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In which two States of India, was Panchayat
Raj system first introduced ?

{1}  Bihar and Madhya Pradesh
J2r Andhra Pradesh and Kerala

(3) Karnataka and Tamil Nadu

i4)  Andhra Pradesh and Rajasthan

The present Secretary General of the UN.O.
is

(37 Ban Ki-Moon

(2)  Guy Ryder

(3) Jim Yong Kim

(4]  Yukiya Amano

Angela Merkel is the Chancellor of
{1} France
42y Germany

(3} Greece

{4}  Japan

The Planning Commission was set up in the
year

(1» 1950

2 1951

(3) 1952

4y 1953

The Dutch East India Company set up their
first factory at

{13  Cochin
(2)  Surat
87 Nagapatnam

{(4)  Masulipatnam

{41
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{51

-6, The first Chief Election Commissioner of India | 6

Wis

(1
421

(3)

i4)

T The plants that grow on the rocks are called

(1)
&2
(3)
{(4)

K.V.K. Sundaram
T. Swaminathan
Sukumar Sen

R.K. Trivedi

Lithophytes
Eremophytes
Sclerophytes
Halophytes

8.  The acientific study of insects is called

AL
(2)
(3)
(4)

Ethology

Morphology
Hydropathy
Entomology

9.  The biggest planet in the Solar System is

ar
(@)
@
(4)

Jupiter
Venus
Mercury

Neptune

10. Earth iz called as the

(1)

(2)

(3)
A4y

Red planet
Blue planet
Yellow planet

Green planet

10.
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(4) b3 B35

) 08 DO D, 08/Beys oo ?
(1) 885,

(2) 2030,

(3) 2,085

(4) S5 el

- 3 oy ¢ & . ]
@500 Fraah ©fobard) J S0

(1) govedd
(2) 3&5‘0‘3@;@
3) TESH

(4) Dotosrod

Y 53998 edbg o
(1) oo

(2) B

(3) e

(4) oo

S0 2 Solbd Pisrore Devard ?
(1} 20 ¢wro

(2) O g0

(3) DBy o

(4)  eHIF o



G5/600

11.

12.

13'

14.

15.

Who was the first Indian to get the Nobel
Prize ?

(1 C.V.Raman

(2}  Amartya Sen

(3)  Hargobind Kherana

{4) Rabindranath Tagore

The astronaut who first landed on the Moon

Was

(1)  Yuri Gagarin
{2)  Daniel Pearl
(3}  Peter Scot

41 Neil Armstrong

Who was the Prime Minister of India just
before PV, Narasimha Rao ?

(1} Indira Gandhi

(2)  Charan Singh

(3) V.P. Singh

(4) Chandra Shekhar

In India, the longest day occurs on
{1y April -13

(2)  October - 31

(3) June-21

(&7  March - 21

MNelson Mandela who was South Africa’s first
Black President died on

1) 6-9-2013

(2) 6-10-2013
(3 6-11-2013
(4) 6-12-2013

(6]

11.

12,

13.

14.

1 5’.

[A]
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(2) 6-10-2013
(3) 6-11-2013
(4) 6-12-2013
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16. In the Delhi Assembly Elections held in 2013,
how many seats did Aam Aadmi Party win ?
(i) 28
(2} 32
(3) 8
(4) 16
17. Sriram Sagar Project is in the district of
(1) Nizamabad
2y Adilabad
(3} Kurnool
{4)  Warangal
18. DManjira is a tributary of
(1)  Tungabhadra river
(2) Penna river
(3) Krishna river
4 Godavari river
19. By which Amendment to the Indian
Constitution, was the Eleventh Schedule
added ?
& 71" Amendment
(2) 72" Amendment
@) 73" Amendment
@) 74" Amendment
20. The First Five Year Plan accorded the highest
priority to
1) Agriculture
(21 Electricity
(3) Rural roads
(4) Heavy industries

{7)

16.

17.

18.

19,

(1) 28
(2) 32
(3 8

4y 16
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21.

22.

25.

Which Article of the Indian Constitution lavs

down the Fundamental Duties of citizens ?

i) 51-A
{2) 52
(3) 54
(4) 55

Who is the first woman chairperson of the
State Bank of India ?

(34 Poonam Ahuja

(2)  Priyanka Das

(3) Nisha Desai

4 Arundhati Bhattacharya

Who are referred to as Homo sapiens ?
(1}  Monkeys

(2) Tigers

(3) Peacocks

(4)  Human beings

Deficiency of which vitamin causes Beri Beri ?

(1) A

£2) B
3 cC
4 D

How many bones does an adult human body

contain ?
(B 206
(2) 106
(3) 153
4) 215

(8)

22,

24,

25.

(1»  51-A
2y 52
3y 64
(4) 55

rEBan $e5 erond Jootsed Wire e
(1) <Irso edoe

(2)  @abos o

(3) I Sl

(4) ©Sodd FErTrdy

Fr 2Dans) el J50D esoirtd ?
(1) S'eow

(2) dEIw
(3} B;’ma;{b
(4) Srsye

86 B8 T I DS &0 By FwibEod ?

(1) A
2) B
3 C
4 D

SAreion ¥0808" 23 JB0so oo ?

(1) 206
(2) 106
(3 153
(4) 215
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26, Which of the following countries is in South |26. 308 TAE D J¥o & oBoTE &ob ?

America 7 (1) 2oerd e

{1} Zimbabwe {20 =k

(2)  Qatar (3) &g ’_']‘13:;5
A3)  Afghanistan (4) eFodw

(4)  Argentina

27. 3858 LD -::a 50 &G ?
27. Srisailam is on the banks of river

(1) Aoesd
i1y Godavari

(2) b:ﬁ&
{2)  Penna

(3) oS
(3) Tungabhadra @ 5%
(4} Krishna

28, THAY GEHTIF AL EFToR

28. International  Conference on  Science
COSTAOL BSHy 2012 DS6 10-12 &

Communication for Scientific Temper was

held during 10 — 12 February 2012 at »5,8 =0hol ?
(1) Mumbai (1) Swod
(2)  New Delhi (2) Sy &8
(3)  Jaipur 3 gyrb

@) &Sy

(4)  Udaipur

29. Which journal is published by National [29. =dcH =y BFore Sof Hidod 385 00 ?

Institute of Science Communication ? (1) E}% 5;,-5§5
(1y  Science Reporter (2) ‘@nﬁ et
(2)  Science Monitor (3) @n?-'l T cf
(3)  Science Herald 4) 2o @3rS

(4)  Science Promater

30. 2011 mvgr Bgo PUo wo EIFER D
30. Which distriet in Andhra Pradesh has the A B i
£ 05 WETNS God ?

highest literacy rat 11C 'y
ighest literacy rate as per 20 ensus ) %BosKE

(2) Sy Novsd
(@) sosreodsnb
4) Poocwrd

(1) Karimnagar

(2) West Godavari
{3) Mahaboobnagar
(4) Hyderabad
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31.

32,

35,

Which Article of the Indian Constitution says
that the State shall take steps to organise
Village Panchayats to function as units of self-

governance 7

(1) 40
2 41
(3) 42
4y 43

The Constitution of India was adopted by the
Constituent Assembly on

1y  26-11-1949
(2} 26-1-1950
3y 15-8-1947
(4]  26-11-1948
Sisir Kumar Ghosh and Motilal Ghosh

published the newspaper by the name of

(br  Hindustan

2y Hindw Patriot

(3)  Vandemataram

{4)  Amrit Bazar Patrika

In which year did the Lahore session of the
Indian National Congress pass the resolution

of Poorna Swaraj ?

(1) 1928
(2) 1929
& 1930
(4) 1831

Chairman of the 14th Finance Commission of

India is

() Y.V. Reddy
{2y D. Subbarao
% C. Rangarajan

(4)  D.P. Agarwal

[ 10}

3l

32'-

33.
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36. Mamta Sharma is the chairperson of !35«
(11 Investment Commission
(21 National Knowledge Commission
(3)  Planning Commission
{# Natiwonal Commission for Women
37. Which State in India produces the maximum 37.
cotton ?
(1) West Bengal
(2} Kerala
{3) Bihar
t4)  (Gujarat
38. Which State in India ha:s the largest forest 38,
cover, according to ‘India Forest Report —
2011° 7
(¥ Kerala
{2}  Karnataka
(3) Uttar Pradesh
(4)  Madhya Pradesh
39. How many types of ‘Gauges’ does the Indian 39.
Railways-track have 7
1y 1
0 2
@ 3
4y 4
40. How many members are nominated to the e
Rajya Sabha by the President ?
Ay 10
2) 11
ar 12
4) 13

(1)  Sdund oo

(2)  erdam D Bofo
(3) Serds Boo

4) eSoh Lire Bodo

oGy ?

(1) S35 Sorrd
(2) Suw

(3 &35

4) =ocd

‘Fodalr Ty oI - 2011 S5
83508’ O Tpof’ enge Jnto S ?

(1} 3Bs¢

So

(2) 50°8E
(3

(4)

oS 358 I Use s GO ?
&,

1 1
(2) 2
3 3
4y 4

TRed Ty Jod ol Hgoi T3¢
Santo ?

(1 10
(2) 1n
3y 12
4) 13
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41, The first Mughal emperor who issued a|4l.
farman to the English to open a factory at
Surat was
i1y Akbar
£ Jahangir
{3) Shahjahan
(4}  Aurangzeb
42,
42, The founder of Bhakti Movement in India was
(1)  Shankaracharya
(2) Nimbarkacharya
(3)  Madhvacharya
#) Ramunajacharya
43. An earthquake under the sea is called a 43.
(1) Cvclone
{2) Lightning
{3} Thunder
‘4})  Tsunami
44. Who from the following was nof a member of 44,
the Cabinet Mission ?
(1} Pethick Lawrence
(2) Stafford Cripps
£  AYV. Alexander
4 Atlee
45. Public Accounts Committee consists of 43
members from Lok Sabha as well as Rajya
Sabha. The Chairman of the Committee is
always
(1) A member of Opposition party
(27 A member of Cabinet
{237 A nominated member
(4)  Deputy Speaker of Lok Sabha

b E 53 g oy ar g <
o e T i = ‘}" TP Ehsernd

el ol 2 L h.- \,w.._.-‘\u_..a_,

oD R0y oS Dwiod SESE 56 ?

(1) e5d

(2) exrofb
3) et
(4) TConSds

oS’ ¢if e N

(2 DosrDy NSl
3y o ';SQ‘GE
) e 33“5“55

DB HHoE'D GirEorD) JoLrLd ?
(1) dogra

(21 St
(3) b
(4) ool

308 08 EORS WBSE BLhEd TITW

@  rh @5
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i4)

o

285 e oty soe] 6805, © Cressiogs 15g0; @65
Gotnod. & 5l e
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(1)

(Z)

3

(4]
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46. How many types of Emergency are envisaged | 46.
by the Constitution of India ?
(1) 2
(2) 3
43 4
4 5
47. Nelson Mandela, who died recently, received |47.
the Bharat Raina Award from the Indian
Government in the year
{1} 1988
(2} 1989
(3) 1990
(4) 1991
48. In which seript was the Buddhist literature
recorded ¥ 48.
(1) Pali
2)  Sanskrit
{3) Prakrit
(4) Hindi
49. Which city is also known as the ‘Big Apple’ ? -
(1)  New York (USA)
(2)  Canberra (Australia)
(3) Madrid (Spain)
M Lausanne (Switzerland)
50.
50. Indian Institute of Space Resecarch and

Technology is located in the State of

£17  Andhra Pradesh
{2) Tamil Nadu

(3) Kerala

(4)  Karnataka

BE D000 eSNE 0L

(n 2
2y 3
3) 4
4 5

gtdse  2Udods doyd WwodcH s
2080 O RodEUol UssE) e
Hoene dhod ?

(1) 1988
(2) 1989
(3 1990
4) 1991

(1) &

(2)  RoDy, yso
@ 5y

4 robd

O SHody ‘OR &8 e wotrd ?
(1) &ry k), (030os)

2 I8 (szdar)
@  SGE (yowa)
4 &5, (vgtool)

060D FVeweT D ?:1"}5 5;’::5& wof
ﬂs‘:}:ﬂé -5 E&oéﬁ &ol ?
(1) o B&F

(2)  SY e
(3) sy
i4) ﬂg Vi
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51.

52.

5b.

{14}

Which of the following decades was declared | 31

as the International Decade for

Disaster Reduction ?
{1) 1990 - 2000
(23 1980 - 1990
{3) 1970 - 1980
{4) 2000 - 2010

The green colour of leaves iz due to the

presence of

(1)  Proteins

(2)  Lipids

{3} Carbohydrates
(4  Chlorophyll

“Tsunami’ is a

i) Japanese word
{2) French word
(3  Greek word

(4}  Russian word

Which of the following is a natural disaster ?

4 Drought
(2) War
(3 Civil War

i4) Terrorism

Who is called the Father of Computers ?
(1)  Herman Hollerith

(2}  Von Neumann

(3) Blaise Pascal

4} Charles Babbage

Natural

B2.

b5.

LR

= o " wE = E
2o8 OE DD goated Ash Hb S
)

Serf 0G5S &) PEloTdd ?
(1) 1990 - 2000
(2) 1980 - 1990
(3} 1970 - 1980

4 2000 -2010

e Solb &%) ™ dosran 33 $g ?
Ry e e

(1) add Dw..;l:_,e‘.{gm

(2) E3y Sorger

(3 'E:G&:&D“c;m

(4) S5

oy ol TS

(1) 22D Sre
(2) (oo Sré
(3) (AE Sres

(4) 5:55 SOy

200 TAE 20 BT IR 7
(1) 555

(2) ojzaﬂgo

(3) wosgd ango

(4) wfiardo
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%I‘

7.

59,

The Disaster Management Act of India was

enacted in the year

(1) 2003
2y 2004
(3 2005
Ly 2006

Who iz called the Father of E-Mail ?

{1y Ray Tomlinson

(2) Timothy Bill

{3) Linkan Golitsberg

4y Bill Gates

The full form of WWW is

M1 World Wide Web

(2} Window World Wide

(3)  World Working Web

(4)  World Working Window

Discovery of Radioactivity was made by
(1) Rutherford

£2)  J.J. Thompson

(3)  John Dalton

(4) Henr Becguerel

Mahatma Gandhi Institute of Education for
Peace and Sustainable Development is at
(1)  Delhi

#2)  Dehradun

(3) Hyderabad

(4) Agra

(19}

a7.

59.

(1 2003
(2) 2004
(3 2005
(4) 2006

S:-owd HErinTad

(1) O erdyon

(2 43rS HSE
@) doss Foe5HaE
(4) HE ﬁés_:;

WWW & 378 D%

M) 5563635

@ 2o& 588 3&

(3) 55§ 30)0R 35
(4) 58S 38,00 Jo&

Hmﬁ"ﬂaﬂﬁm ':;mﬁ":u&

(D ErgsHd

(2 2.8 g
3 =0 &g
4 T 35S

Sty mod 3SpeargS &f JeoEsS 36
eof Showdawd Globdnod J5,6 ol ?
M ¢d

(2)  GErErs

(3) FoTwh

(4) ey
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61.

62,

63.

Which Indian State is the topmost State in
terms of prosperity, according to the report

released by CRISIL research firm in
November 2013 ?

{1 Punjab

{2y Kerala

{(3) Nagaland

{4) Bihar .

Shanti Swarocop Bhatnagar Awards are given
for excellence in the field of

ily Literature

(2)  Music

(3) Sports

(4) Science and Technology

Capital of Mizoram State is

¥ Dehradun
(2)  lmphal
(3) Kohima
(4) Aizawl

At what place did the All India Congress
Committee meet on 1%* April 1921 ?

{1)  Chittoor

(2) Visakhapatnam
(&  Nellore

(4) Viayawada

The first session of Rayalaseema Mahasabha
was held in 1934 at

(¥ Madras

(2) Gudivada
(3) Bapatla

(4) Srikakulam

{16}

61.

62,

2013 sdowbs @hd &3 NOFCT ROy
Dte DN IDHE HoSo, D erbd o°Ro
griied” piood ?

(1) So=red

(2 S5¢

(3 ool

(4) &eE

9 Gonod  wodNgrd gyl eTiho
A ?

(1 s

(2) Hohdo

(3 t_gdm

(4) T Hda DFoEHH demaren

.- E8ED E'To O3 oeer 00 7

(1) GErErs
(2) god
3 Srar
4 o=

1921 226 135 o grod To@o X0 5,6
SErddonod 7

(1) D&

(2)  JzPdeno
(3) Sard

(4) Declors

1934 & cabobs Dot 3wnsed B5rdvo

%, 20R00 ?
(1) b
20 widrs
(3) ey
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66.

67.

68.

T0.

[ 17 )

Who is the Chairman of the National Disaster

Management Authority under the Disaster

Management Act, 2005 ?

(1)
(2)
(3)
(4]

The

Prime Minister
President
Vice-President
Finance Minister

boundary line between France and

Germany is known as

(1)
2]
(3)
(4)

Who was selected for the Jnanpith Award for

Durand Line
MeMahon Line
Radcliffe Line
Maginot Line

the year 2012 ?

(1)
(2)
(3)
)

The

Dasarathi Rangacharya
N. Gopi

Katyayani Vidmahe
Ravuri Bharadwaja

English and Foreign Languages

University is located at

()
(2)
(3)
(4)

Guwahati
Gorakhpur
Hyderabad
Madurai

The Nobel Prize winners in Physics for 2013

are
(1)
(2)
(3

(4)

Peter Higgs and Francois Englert
Alice Munro

Arich Warshel, Martin Karplus and
Michael Levitt

Randy Schekman,
James Rothman

Thomas Sudhof,

66.

70.

[A]

D5y DEGTes 5630 2006 05 DGHAD =D

U= ﬂéj?m RORE E-Q’J;\__E?.‘J ey 7

(1) Beed ood

3y - b0 dwvo Mgy KO T 2
() &rgrok B

(@) bS5 iy
(3) oald e
4) SreSel dp

2012 & gLROE e IS0 SoTtd ?
(1) ord6d Jormrards

@ A5 F%

(3)  SErgEod e

4) CTIr0 ghore

& 300 @0l TS TrofED ArdSoy é&d)

pSaEe

1 RS

2 HRoderd
@ ocerb
(4) St

s wgoeﬁ“ 2013 & T3S wrurso od

(1 D65 Ry 2o ghof Joff

esdn T

(3)
3285

(4)
EmS

wbr T3S, 205 5550 SHoa PP

rod  Myoms, Twd 2§, d5
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71. SAARC Disaster Management Centre is|71.

located at

{1} Cuttack

(2}  New Delhi

3y  Visakhapatnam

(40 Madurai

72,

72,

73.

T4 L

75.

The oldest university in the Telangana region
of Andhra Pradesh is

(3 Osmania University
(2}  Satavahana University
(3} Kakatiya University

(4)  Mahatma Gandhi University

“Typhoon Haiyan’ killed more than 10,000
people in 2013 in the country of

(1}  Indonesia
(2)  India

& . Japan

{4) Philippines

The oldest university in the Andhra region of
Andhra Pradesh is

tt7  Andhra University

(2)  Sri Venkateswara University
@  Sri Krishna Devraya University
{4)  Vikrama Simhapuri University

India’s first military satellite GSAT-7 was
successfully launched into orbit in the vear

e 2013
£y 2012
(3) 2014
(4 2011

73.

74.

5.

mfny  Tyrh e Ty i =1e =
ol J'.: adailad c\jﬁ:l}.u 3 ..n..l‘_':IU i
(1) %5

(2)
(3)

(4)

so W3S Boors  (rosod €aidy
SIS JFDorgoabo

(1) ﬁﬁfﬁﬂﬁ? Qi‘sz)ﬂ“éﬂm
(2) &T&TTFHS Déﬁbmﬁau‘i}c

(3)
(4)

sESAD DFDTeho
."53:}51"3“& mod .ﬁﬁiﬂm‘aﬂﬁﬁﬂ

2013 & 3830 Wod W oIS BIrS
oS D S¥od’ Bogodod ?

(1) o&dholr

(2) modalr

(8)  ard

@ DEHocnd

so BEESY soy Proded Gy ed
s i}‘ﬁﬁﬁﬂ“ﬂrﬂtﬁfﬁﬁ

(1) &oE JHdorpabo

2§ Jos8¥s Do
@ & 5 Ssoron MEDTEAnO
4)  ED HoTHd Jgaredvo

D DOSEYGoS ros S¥ o) PIE &SI
GSAT-7 2 5 ¢5°3 Dmathodon Sobomtd

(1) 2013
(2 202
(3) 2014
(4} 2011
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76.

7.

8.

79.

The new book ‘My Journey : Transforming
Dreams Into Actions’ is authored by

(1)  A.P.J. Abdul Kalam
(2)
(3
(4} Pranab Mukherjee

M.S. Swaminathan

Ramachandra Guha

The present Chief Information Commissioner
of India1s

(1) Sushma Singh
(2 Nishi Vasudeva
(3) Sowmya Gupta
(4)  Neeru Gupta

Which countrv's scientists built the world's
smallest FM Radio Transmitter ?

(1) USA

(2}  Germany
(3) Canada
#) Japan

When was colour TV transmission introduced
in India ?

(1) 1980
2y 1881
13) 1982
(4) 1984

Who was the founder Director of Tata
Institute of Fundamental Research ?

#é) S.5. Bhatnagar
(2) H.J. Bhabha
(3 M.N. Saha

(4)  Vikram Sarabhai

{ 19}

76.

7.

8.

79.

(1) 2.2.8 ewd Soo
(2) Jo.Je a";-;.;;‘:-a*gﬁ
3) oS oo

(4)  (@Eeod S0

PSS S PN SSrorl Konsb

(1) K‘-J&é ooh

2 2 ods
(3) ﬂ":ﬂé ﬁJif:
@ o

0 & ThRge Eholod o8 I% DI
Falateney LEJ‘SJQJEJE J Tty ?

(1) bz

2 2t

(3 S5

4 e

JEpthd eSS tome 8. EFow
rEogsairom ?

(1) 1980

(2) 1981

(3 1982

(4) 1984

e gopNgel b SotDotd 5ih) Fw

(1) J2.d%. genrb
(2) 0.8 wrer
(3 Jo.da. ®

(4) o Forgrad
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81. Who is recognised as the Father of Geometry ? | 8L
i1y Pyihagoras
2y Euclid
i3} HKepler
#  Descartes
82, Which of the [ollowing Indian dances is a 82.
classical one 7
{1y Odissi
(2)  Garba
{3) Rasa Leela
i4r  Bhangra
83.
B3, NABARD was set up on the recommendation
of
{1} Public Accounts Committee
{2)  Shivaraman Committee
(3}  Narasimham Committee
t4)  Rangarajan Committee
|84,
84. After the merger of Air India and Indian
Airlines, the new entity is called
(1) Indian Airlines
(27 Aur India
3 Indian Airways
i4) Indian Air
85.
85. In 1916, Mahatma Gandhi founded Sabarmati
Ashram at
(1)  Ahmedabad
(2}  Aurangabad
@  Bombay
i4)  Baroda

Sgrredd horanTudor 500 robomrty ?

( 1} R ‘-’-_El.

sl Nl
(2)  wwrds
(3 836

(5]

4) A sH
[ 5]

(2} ﬁ‘:l‘z:

3y Cra ey

4)  groT

o EDs e esgrtonT mﬂwg

%boﬁm&oﬂ ?

(1) 588 wTuéEs RN
(@) 3500700 $2oed

(8) Srhosro 5hed

(4)  sormres 5ooed

Jond godolr S8 goddhd Jonbdhym
50055 58 S0y

(1)  zodddd Jondgsy

(2) Jcwd nodair

(3) mobobe Jonban

(4) Fodkahs Jowb

1916 & Soifery mod Deld s@ird) 25
FHoTe.?

(1) erigoerd

(2) THomerd

(3) Fowrow

4 offe
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86. Who was popularly called the ‘Grand Old Man | 86
of India’ ?
(1)  G.K. Gokhale
2y  B.G. Tilak
i)  Dadabhai Naoroji
(4)  Abul Kalam Azad
87. The book “The Discovery Of India” was|gm
written by
(1) Gopal Krishna Gokhale
2y  B.R. Ambedkar
3y  Bal Gangadhar Tilak
(4} Jawaharlal Nehru
88. In which year did the Jailianwala Bagh ne.
iragedy take place ?
(1) 1918
(2 1919
(3 1920
4y 1921
89. Quit India Movement began in the vear 89,
1) 1941
(2) 1942
(3 1943
4y 1944
90. Mahatma Gandhi was assassinated in the
vear 90.
(1948
2y 1949
(3 1946
(4 1847

>

5P &0 o6l ed 50D

i
£n

(4) wend Yero &

“S iS00 &9 gosal” Pyl Bicwd ISH ?

(1) Freo 53 Rad

0,66, woiis,5

(2)
(3) =ro Nomoh Sob

4) esb ed 3

D o3l wddbSTrer o cogess
228fcd ?

(1) 1918
2y 1919
(3) 1920
(4) 1921

815 Q04D &0 (@PUogEN NoNET0

=
LY

(1) 1941
{2) 1942
(3) 1943
4y 1944

(1) 1948
(2) 1949
(4} 1946
(4} 1947
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91. Father of Modern Western Education in India | 91.

15

(1}  Lord Auckland

2y Lord Dalhousie

(3) Lord Hardinge

(4) Lord William Bentinck

92.

92. Indian National Congress was founded in the

year

(1) 1883

2y 1884

(3) 1885

(4) 18B6
98. According to Ambedkar, which Article of the

Indian Constitution is the very heart and soul

of the Constitution ?

(1)  Article—1

¥2)  Article - 19

(3)  Article - 32

4 Article - 14

(4) cle o4,
94. The Congress Socialist Party was founded in

the year

(1y 1932

(2) 1933

(3) 1934

1935

05.

95. The second most populous State in India as

per 2011 Census is

@) Uttar Pradesh
¢€) Maharashtra

(3) Madhya Pradesh
(4) Bihar

(A]
UGS &Y B I DEFRITIED IS 7
(1)
(2)
(3)
(4)

=
G‘:ﬁ &35:_?@5

-1
b =SS

ol :&*Qofs
r-‘:ﬁ“§ 2Daha: DoedcE

0 No3sgod o8 =dad  wo@d
Fdotadod ?

(1) 1883
(2) 1884
(3) 1885
(4) 1886

woli)§ P=to FUS TEpERedd
[ Taltale Trergolio &8, oo

(1) &Q586m -1

(2) elESen -19
(3) o550 -32
(4) ©bH50s =14

D Nossos
a;bﬂﬁ-ﬂ}&ﬂﬂ ?

vorh 0§y b

(1) 1932
(2) 1933
(3) 1934
(4) 1935

2011 ey Sgo S50 FESE 25 eddg
=T fe mgp

(D &35 338
(2) ra}::‘c“g
(3)  Sog; $BF
4) &8
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96. The Sarpanch of a Gram Panchayat is elected | 96.
for a period of
{5 years
(2] 4 vears
{31 3 vears
{4)  Notime limit
97. Which is the longest river in the world 7 97.
(1) Congo
2+ Nile
i3y Missoun
4 Brahmaputra
98. Who was the first Speaker of India's first Lok o8.
Sabha ?
(1) Hukam Singh
2y  ML.A. Ayyangar
(3}  G.S. Dhillon
4y GV Mavlankar
99. The Second Five Year Plan accorded priority 29.
to
{1y Agriculture
(2  Cottage Industries
(3}  Educational Development
(49 Basic and Heavy Industries
100. International Literacy Day is 100,
{1y October 8
(2)  September 8
(3y  November 8

2]

,
. A e B e e ¥ =
sy HDooroDd DHhow ooy DODSETEOK Jdh
i A} o )
Eaarin
(1} 5250080
L)

2y 4 F\'}O;J{ﬁ;c“‘tl:
3y 3 :&o;ﬁ%c‘w
(4) TondLS St

Eoouod” wdod EIH B0 DO 7

(1) =oi

2) P

(3) o0
@) IS

58 B90d EE0gid 306563 nsB I35t ?
(1)
() Jo. E'_‘.in}Ll.in‘i"‘S

Lot moh

@ 235 &epd

4) £.2. ook

Totsd Dol 5§ Serds 2 Sommdd EroriEes

Fuhyoh

(1) SEarolo

(2) ey seEmen

(3) oD

(4) 0L dao grb SOFen

woe‘.ﬁ%ﬁ&oﬁh :JD‘E o]

(1) =S58
[

(2) wpowb s

(3) S¥owmbs

(4) Gunowbs
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101.

102,

104.

105.

Sujatha Singh is Indian Government's present
(1)
(2

Foreign Secretary

Education Secretary

(3) Home Secretary

(4) Defence Secretary

The headquarters of United Nations
Orgamsation (UNO) are located at

(1) Washington D.C.

(2) Texas

8 New York

(4) San Francisco

Who first propagated the idea of ‘Gram
Swaraj’ in India ?

(1) Gandhiji
(2% Tilak

(3) Naoroji

(4) Lajpat Rai

In which district of Andhra Pradesh iz the
Basar Saraswati Temple located ?

(13  Nizamabad
(2) Medak

(3) Adilabad
(4) Srikakulam

In which district of Andhra Pradesh does the
river Vamsadhara' flow ?

(1) Nellore

(2) Kurnool

(3) Visakhapatnam
{4+ Srikakulam

[ 24)

101.

102.

103.

104.

105.

[A]
e noh godalr (BELErRE Srdd
(1) Ddeon S0
(2)  dory SRS
@) F o
(4) U5 SPUGO,

2% orezg SO ol STgpAo &P B30
(1}
(2) 85y

(3) g arly,
4) 73 Prnet

Toackiae &b,

rESE Y Sl gridDH Inorr Srto
JVSTE ?

(1) m™add

(2) &b

3 JF&E

(4) omdd oo

so O8N O &8 onl Sdgd
Sroaho &od ?

(1)
(2)
(3)
(4)

desrard
2oes
edarerh
v
sog E3EED D 58
©57H00 ?

(1} Hdagd

@ sund

(3)
4

2ol  Sodgy
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106. What is the name of the political party |106.
recently launched by Manda Krishna, founder

of Madiga Reservation Porata Samithi ?

417 Mahajana Socialist Party

(2)  Bahujuna Socialist Party

(3) Mahajana Welfare Party

(4) Bahujana Welfare Party
107. The present Chairman of University Grants e

Commission is

(1)  Prof 5.5. Mantha

(2) Prof. 5.K. Panda

(3}  Prof. Yash Pal

{4}  Prof. Ved Prakash

108.

108. Harare is the capital of which country ?

(1) Caracas

(2)  Hanm

(3} Zambia

(4) Zimbabwe
109. Present Governor of Rajasthan State is 109.

Yy Margaret Alva

{2) Kamla Beniwal

(3)  Urmila Singh

(4) S.C.Jamir
110. The smallest Union Territory of India (in area) | 110.

is

{1)  Puducherry
(2}  Chandigarh
A7 Daman & Diu
(753 ] Lakshadweep

(A]
SrOr beliie Sforr APAHGS ol Hy
gedse FHods >§ Db 58 ?

P "] . _m..f F, :‘u

(2)  wdomd FNPY &é
(3 SoTrwd IEH6 §
@) edoms 356 >§

QOrDHENed [roely S5 Bys oS

(1) (@R 0.5, Loor

(@) o0k B3 Do

(3)  (SFonb ol DS
(4) @b 38 5=F
SOt D 89 oemoed 7
(1) set570

2) TS

(3) wrolal

SRS Tearo T M

(1) ::P§Ee5 gy
(2) S ad7d
(3) edyEe bof
4) 5.5 =B

POEY SosDS | Foord, ed 250

(1) Hde

(2) Sodnb

(3) o0 Sodain ol
1) o5biew
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111.

112,

113.

114.

115.

The duration of the Fourth Five Year Plan

WS

(1} 1969 - 1974
(2) 1974-1979
(31 1961 - 1966
(4) 1980 - 1985

So far, how many Finance Commissions have
been appeinted in India ?

1 12
(2> 13
3 14
4y 15

Article 51-A of the Indian Constitution deals
with

(1) Union - State Relations

(2) Directive Principles
(3) Emergency Provisions
4 Fundamental Duties

A student has to secure 45% of maximum
marks to pass a test. If a boy gets 285 marks
and fails by 30 marks, the maximum marks
for the test is

(1) 500
(2) 600
@ 700
(4) 800

The average of the numbers 1, 2, 3, 4, ..., 59

15

(1) 28
(2) 29
(3) 2956
(4) 30

{ 26 )

111.

112,

113.

114.

115.

4

A B A RS s P
FEJ Fale B ':'..”1 [RETHS SO0

(1) 1969 - 1974

{2y 1974 -1979

{3y 1961 - 1966

(4) 1980 - 1985

FB88  FHhoos Y eD¥  Hopres
Al VRV TeRS

(1) 12

2) 13

@3 14

(4) 15

P oTY) Tﬁ*ﬁoﬁoé“ﬂ 51-A edESe 4038

mowofowod 7

(1) So - o7 Howogred

(2) eoF e
(3)  wgERs Sopsoe
4) [ PELE Moo

o 308 &fgen dohl Sndo S8, 45%
Srdnye o, w8 B 285 St $d)
30 Srinyo SpSESdD. e 50§ Iodo

EVLOS

(1 500
2 600
(3) 700
) 800

}ﬁﬂaﬁéﬂz 1,2, 3,4, ..., 59 0 2020

(1) 28
(2) 29
(3) 295
4) 30
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116.

117.

118.

119.

A rectangular land has an area of 120 sg. m.
and perimeter 46 meters. The length G(n

meters) of the diagonal is

(1) 20
2y 18
(£ S
4y 13

A copper sphere of radius 3 em is melted and a

wire of diameter 0-2 em is made of it. The
length (in meters) of the wire is

(H 36
2) 24
(3) 18
4) 9

A rectangle of length 12 em and breadth 5 em
is inscribed in a circle. The radius (in em) of
the circle 1s

r 6
(2) 65
@3 7
(4) 85
If the ten-digit number 1532147x06 1is

divisible by 9, then x =

= 3
(2) 5
3 7
4 9

A train of length 150 meters crosses a bridge
of same length in 20 seconds. The speed (in
kmph) of the train is

{1y 36
¢2) 45
(3) b4
(4) 60

{27)

116.

117.

118,

119.

l 2“.

e OY SHREFTEY Grdgerop 120 S0
ol oxnSes 46 e, & ISFH PED
(oeoye’)
(n 20
(2) 18
(3 17
iy ‘18

8 »o.b. Trgo Yo o5 oA ﬁ‘u:-.?.h EBA0D
T8 02 20.50. TFo So SR ITn. o

&R 2P (weafd’)

{1y 36
2y 24
(3 18
4 9

12 20.2o. &P, 5 o.db. Isen) Ko &8 &Y
SH6FD 8 Hos eosfdosedod. &
58 yrge (Ro.d. of)

(n 6

(2) 65

3 7

4 85

$6 woBo Lop; 1532147x06 5 9 JFworr
Eﬁ“ﬁﬁ; Wiyl x =

(n 3

2 5

® 7

4 9

150 2otof e Yo ol oo of DED Ho

e J0B5% 20 PENS Trndod. & Jw
Sro (Kol 3.5, of)

(1 36
(2) 45
(3 54
4) 60
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121. In a business, A invested 3 times as much as B | 121. ¢
9
and B invested ; of what C has invested. If
the vear-end profit is § 55,000, the share of B
in it is
(1y  # 12.000
2y F 10,000
e F 8,000
{4y F 7,000
122, If A gets 50% more salary than B, then how 199
much does B get less than A7 ’
(1} 25%
1
2y 33—-%
3
431 bl
’ 2
(4 66 — 9%
) 3
123. By selling an article for ¥ 990, a trader gets a
profit of 12 % %, The cost price of the article is | 123,
(1) F 920
2 F 880
(3 F 800
(4 F T80
124. In a vear, the month of June starts on
Monday. Then the Indian Independence Day 124

that yearison a

(1)  Tuesday
(2)  Wednesday
w1 Friday

(4) Saturday

[A]

Tt Htaedd A

e, C Dinod o B erd.

3
HoSETroS ardio T 55,000 wond wothd” B

P

(1) T 12,000
(2 F 10,000
3y ¥ 5,000
4y T 7,000

B o8 A § 50% fo s 55, A58 B 4
Jos Too Bdo S5yH Do ?

(1 25%
@) 33%%
@) 50%

(4) ﬁﬁgﬁ

el S T 990 3 Eﬂil:n& ek D‘Eﬁﬁﬁ 12%%

orgio Zrobd, el 5% Je
(1)
(2)

)

T 920
T 880
T 800
(4) T 780
28 Houdtiod® e Jo FFwTrUof ncgd
& Jo5S U8’ S ArogdTENoT

(1) Zoohdordo
(2} eniioto
(3) dHETSo
(4) &Trvo
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125, A person I’ can complete a work in 18 days. If
G iz 20% more efficient than P, then the
number of davs required for @ to complete
that work is

(13 15
(2 12
(33 10
(4) 9

Directions : Answer the questions 126 to 130 afier

reading the information given below carefully ;

In the diagram given below, the triangle
represents doctors, the circle represents players and

the rectangle represents the artists.
//_]-_]\\
Players D C
G
Doctors
A

Artists

126. The space in the diagram that represents
doctors who are also plavers as well as artists

is
i1y B
2y C
3 D
4 E
127. The space in the diagram representing artists
who are players is
t F
2) G
(3) H
(4) D

{29)

£ =t E -]
125. P e 508 a5 300 18 S'ed 20 wclbleda
i [y —
oy - - s
sl Bod 20% Jun S S fe 58 Q
(=] L [

c\':n?_.‘la,-:,
(1) 15
(2) 12
3y 10
4y 9

fal=d)

do sthosr, SEEmYRo YT tholr PO,
H
Eostom \ D C
G
: GrELD
2 o
FME

B
A

.

Bt

126, 5606 Léavf:-mm, Egroeiinen PG escond

GrEES Hordol @80
=

() B
) o
@ D
4) E
127. dorsods senom stod’ srdod Bdo
() F
@ G
3) H
4 D
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128. The space in the diagram that represents

artists who are neither players nor doctors is

(i A
2 B
)y C
4) D
129. The space representing those who are players,
but neither doctors nor artists is
(1) E,G
(2) FE
B GH
4) H,F
130. The space representing doctors who are
players but not artists is
(1} A
(2) B
3 C
1 D
Directions : Reading carefully the information

given below, answer the guestions 131 to 135.
Six houses in two rows facing north and south are

allotted to P, @, R, S, T and U in such a way that
(i) @ and S get north facing houses and not next
to each other.

(ii)
(iii)

S and U get diagonally opposite houses.

R is next to U, and gets a south facing house
and T gets a north facing house.

131. The house between @ and S is that of
n P
(2) R
@ T
4) U

430)

128, foshe TR oy T TRoF &od
SerTmhod wrdod @Bido
(1) A
{20 B
@ C
4) D
129. G55 oh, BTt S TURIOLT SOl
dorstiomn wrdod Hd¥o
(1) E,G
2y F,E
3y GH
4y H,F
130. SoTiiohdr Sesthey T GrEES Hrdod
BSti¥o
(1) A
20 B
3 C
4y D
MD2F ¢ Fos 3RS ISoer e D3I 131

Do 135 56 o SHed sorer Hix;

ot 3iy Tok BUNE &gY, ofe S0P
ool Gomon. e P, Q R, 5 T, U o
Sergodns” god Desorr SoHom.
(i) Q S oo &gb Sy TnUc So il STHow
T 250 P5,N 250 8.
S, U o giy Jsabor S o
(diagonally opposite) &™),
U & 355 R E Ge Sop oo aey T 3

(ii)

(iii)

&80 S0 OoUD) J STHo®.
131. Q, S % 5Oy 5§ Dol 28Q 2508 3008
(1
(2)
13)
(4)

o= x
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{31)

182. Apart from the pair SU, the other pair of

houses that are diagonally opposite are

(1}
£2)
(3)
(4)

PQ
RT
TU

QT

133. The middle house facing south is allotted to

(1)
{2}
6l
(4]

P

A=

134. The houses facing north were allotted to

(1)
(2)
(3]
(4)

QRS
QTS
QTU
QUR

135. The house allotted to T is opposite to that of

(1)
(2)
(3]
bk

U

T
5

=

Directions : Read carefully the data given below
regarding the production and sale of motor bikes and
scooters by a company and answer the questions 136

to 140,
s No. of Motor bikes No. of Scooters
produced and sold | produced and sold
| 2005 18500 14600 |
o005 | 4200 15200 |
| 2007 | 16900 25400
(2008 | 12600 | 18800 |
| 2009 | 9600 11200
2010 | 14800 16200
2011 | 17600 24200

132,

SU 5% 5678 5fasbor B> ¢ SIS
] fﬁt:l E2083

&8s Swug q%éﬁ 205 qoéﬁﬂlﬁ&?m}oﬁﬂg 55%

S48 Sng g Swronod) Frobh S

(1 PQ

(2) RT

(3) TU

(4) QT
133.

1x P

2 Q

(3 R

(4) 8
134.

(1) QRS

(2) QTS

(3) QTU

(4 QUR
185. T 3 Sercoods 3068 ot &od 53

(L U

(2) T

3 8

4 R
DAY

28 5odd Satrd Do Jrérdd JSev,

W APD  Jowodods Asoredd  éaty  edd
JEabo Fod sgIsE gomo. oWD T
J0680:2 136 00D 140 I&% Mo FHeD ewrev

Oy,
Arerth Pe o, 088
RoBETo Ele-] EFGES
Sobain b Sobain
2005 18500 14600
2006 24200 18200 |
2007 16900 25400 |
2008 12600 133:1(]_*"'4'
2009 9600 11200
2010 1m0 16200
2011 17600 24200
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136. In which vear was the production of motor
bikes and scooters together the maximum ?
(1) 2006
(2y 2007
& 2010
(4) 2011

137. In the year 2007, the cost of a motor bike was
F 55,000 and that of a scooter was T 40,000.
The income (in crores of rupees) in that year
was
(1) 1925
(2 194-565
(3} 1955
47  204-55

138. The total number of scooters (in thousands)
produced by the company from 2005 to 2011
was
¥, 1286
2y 126-8
(3) 1256
(4) 1284

139. The ratio of motor bikes to scooters in the year
2011 is
(1) 4:11
(2) 8:11
3 8:11
(4) 10:11

140. The ratio of total production of bikes and

scooters together in 2006 to that in 2009 is

{1) 26:53
2y 53:26
(3) 58:23
(4) 23:58

(32)

136.

137.

138.

139,

140,

D Rosudod Poen, mrmey Jndo &6
Noxom &0l ?

(1)
(2)
(3)

(4)

2006
2007
2010
2011

20075 HoSHwod Irerdd £ b
2 55,000 2o et 0o T 40,000 wond e
MoNSEos® umrabo (54 trdahd))

(1) 1925

(2) 19455

(3) 1955

(4)  204-55

2005 Sood 2011 S8 &&6H IS Iwgo
w68 Sogs (Jo8)

(1) 1286

(2) 1268

(3) 1256

(4) 1284

2011 RoS$Eos G eons Irerd
P, M08 s

(1) 4:11
(2) 6:11
3 8:11
4) 10:11

2006 3 0SS0, 2009 SoSood® Foe,
R Lot 50D% Ango edge Ny

(1) 26:53
(2) 53:26
(3) 58:23
(4) 23:58
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Directions : In each panchayat, there are six
categories of employees A, B, C, D, E and F, who are
employed such that

A:B:C:D:E:F=12:83:7:9:2:3
Using this information, answer the questions from
141 to 145,

141, If a panchayat has a total of 72 employees, the
number of employees of C category in them is

(1) 6
2y 14
(3 18
4 24
142. If a panchayat has 36 employees of category D,
then the number of employees of category E is
(1 8
@) 12
3) 16
4) 20
143. The ratio of employees of category A to that in
category F in any panchayat is
(1) 1:4
2 4:1
3 3:4
4 4:3
144, If a panchayat has 30 employees of category B,
then the total number of employees in the
panchayat is
(1) 380
(2) 316
) 260
4y 216

{33}

[A]
MGDY : (@36 JoTandd’ ety Fandeo S5 A,
B,C,D,E 06w F e

A:B:C:D:E:F=12:3:7:9:2:3
DipPS” davdoswern. & dkabo egrdom
141 202 145 S5 Mo (o aTvey Sy

141, 2% Somrondé’ Ingo 72 o8 &8 jtbeod
somS® C 3L abyoe Soy;

(1) 6

(2) 14
@ 18
4 24
142. &5 Domrondd® D S0nd &8jben 36 0B
&o&} wod® E 360 &850 Sowy
n 8
(2) 12
(3) 16
4 20
143. D doTrondd’ gor ASen0 &', F3LA0
a80o Mg
(1) 1:4
@ 4:1
(3) 3:4
(4) 4:3
144. &8 SoTondE’ B Swne &Syte Doy 30
eond, ©oté’d Ingo &8 jte Nows
(1) 360
(2) 316
(3) 260
4) 216



GS/600

145. In any panchayat, the number of employees in
categories C and E together is equal to the
number of employees in the category

@ A
@ B
@ C
4y D

Directions : Read the diagram which gives the

heads of expenditure under various categories in a
budget of ¥ 2,880 lakhs of an industry.
Miscellaneous
15%
Medical
expenses
12%
Canteen
40% A5
Salaries Insurance

Answer the guestions 146 to 150 using the above
diagram.

146. The money allocated for Salaries (in lakhs of

rupees) is

(1) 1152
@ 1252
3y 1312

i 34)

0 somrandS’ Jor SwAG C, SwA0 E o
505 &S00 Bow;, 308 TS O SwAd
&S o nogsd KirsiHE0d.

145.

n A
(2) B
@ C
4 D

MEDOY : a5 SoFnd® Ingo T 2,880 ofo agds’

295 eored Fravodew dod  Swod
erdTEPTIaD.
S T50en
15%
=5
50
ﬁjdh 12%
E:'Sce.‘rS
40%: 55
r foren B Soboin

ro0t gitid

80 wgrdomr 146 vod 150 SO0 o @8Hol

2Tmey rI?.:Ll;;.

146. doremn Serapods Guy (ofo rdrans))

(4) 1432

(1) 1152
(2) 1252
(3) 1312
4) 1432
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147. The allocation made for Miscellaneous|147.
expenditure i3
(1) ¥ 2403 lakhs
(2) ¥ 2304 lakhs
(3) ¥ 234 lakhs
t4) ¥ 2324 lakhs
. 148,
148. How much more money is allocated for
Insurance and Social Security over the
Medical expenses 7
(1) ¥ 288 lakhs
(2) ¥ 258 lakhs
(3) ¥ 238 lakhs
(4) ¥ 283 lakhs
149.
149. The total allocation for Canteen and
Miscellaneous is one-half of the allocation for
(1) Medical expenses
(2} Insurance and Social Security
€3} Salaries
(4)  Medical and Insurance together
150. The allocations for Salaries minus the|150.
allocation for Insurance and Social Security is
equal to the allocation for
f1)  Medical expenses
(2)  Salaries
(3)  Canteen
(4) Miscelianeous

FEES0eD Seranod)
(1) ¥ 2403 ofew

(2) T 2304 of

(3) ¥ 234 2Zm
(4) T 2324 ofex

20; PEno S0, Pir, FowE FESDH Jod
5,5 Seroxnodiadod ?

(1) ¥ 288 ofew
(2) T 258 ofe0
(3) T 2380t
(4) T 283 0w

0855, aBsinen LY fwranode, O
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3) dore
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Zerowopi S3awmr 530 Eod T O
SeroncdD SErHo

1 PG 5 & i'.ﬁat:‘.‘c:l
(2)  doren
(3) sﬂﬁoaﬁs

(4) 38l



